— tbfl - EHE 0103-1 -

Eefml - EFE 0103-1 £mi (

1. uro IR E B AT S,

B) By =20 DF T 7hEXRIV.

(W) By =20 D7 7 71%, FAZEY, e =1DE & y=

Thn. %0, 0,0k (1, ) EEBEHY y = 20 12250
< SITEADED TR D,

D KOBRD ST T e EX S,

(1) y =3z (2) y=22
Yy Yy
5 5
=5 5 =5 5
O x O
5 =5
(4) y=3z (5) y =4z
Yy Yy
5 5
=5 5 =5 5
] T O
5 5

— 13th-note —

) ( 53 )
Yy
: 15
_5¢ #5
ge
B)y==z
Yy
5
-5 5
O
-5
(6) y=—2z
)
5
__5 5
O




3.

3

PN

W= F) 40757 (0,

7=, (1,

— tbfl - EHE 0103-1 -

ICHTEELEEEZ LS,

) FDT T T7DOHBREEZRE .

) BBHOT, yitz KBTS, %

)%Eé@?,$:1@&%y: b,

7Zinn, FRENTy = -4z 005,

RO DTN EZEZ RSV,

Y Y
5 5
\
\
-5 5 -5 5
O T T
\
_'\ 5
(2)
Y Y /
5 5/
/
/
-5 5 -5 5
T O T
/
/
4 /125
(5) /

— 13th-note —

5,
=5
(3)
=5
(6)




D.

6.

WO DT T 7 X E N,

(1) y=3z
Yy
5
+5 5
O
—5
(4) y =2z
Yy
5
+5 5
O

W OBE DTN EZE 2 I E 0,

Yy
5
=5 5
(1)
\y
\ 5
\
\
=5 5
0
\
\
-3
(4) !

— tbfl - EHE 0103-1 -

(2) y=—4z
Yy
5
=5
O
(5) y=4x
Y
5
=5
O
Yy
5
=5
(2)
vt/
5/
/
/
=5
O
/
/
/1=
(5) /

— 13th-note —

(3) y=—3a
Yy
5
=5
O
(6) y=—2x
Yy
5
=5
O
5
=5
\
\
=5
(3)
5
=5
-5
(6)




Lol - EHE 0103-1

1.

2.

Y EN0)

— tbfl - EHE 0103-1 -

ICETITEDEEZEZA RS,

B) By =20 DF T 7hEXRIV.

(fRxJ7) Bk y =22 DI T 7%, JFAZEY,
Ths. SED, (0, 0) L (1, 2

T, 7771360 E 51205,

WO D 7T 7 HEXIE N,

(1) y=—3a

(4) y=3z

i (

(2) y=2x
Yy
5
-5 5
(5) y=4da
vt |
5/
/
/
-5 5
/
/
[ 15
/

— 13th-note —

) ( 57 )
Y
: 15
_5¢ #5
ge
B)y=x
Yy
5
-5 5
-5
(6) y=—2z
Yy
5
-5 5
O




3.&?@

) FDT T T7DOHBREEZRE .
(frxJ5) fiorF 7% (0,

— tbfl - EHE 0103-1 -

ICHTEELEEEZ LS,

7=, (1, —4

0

) BBHOT, yitz KBTS, %

7Zinn, FRENTy = -4z 005,

4. wompormtsss s,

Y
5
\
\
=5 5
0] x
\
L
(1)
y = —3x
Yy
5
=5
(@ _
Yy = 2x

)%Eé@f“, r=10rxy=| —4|chHs.

Y
5
-5
y=x
ur ]
5/
/
/
=5
0O
/
/
/=5
/
y = 4x

— 13th-note —




D.

6.

WO DT T 7 X E N,

(1) y=3x
Yy
5
/
/
/
/
__5 5
/
/
—b
(4) y=2z
Yy
5
,,5 5

WO D FRXEEZ R E W,

Yy
5
__5 5
(1) )
Yy = 2x
\ Yy
\ |5
\
\
,,5 5
O
\
\
-5
(4) \
Yy = —4x

— tbfl - EHE 0103-1 -

(2) y=—4z

—

—

(5) y=4z

\\

~———

—

I

(5) /
y = 4x

— 13th-note —

(3) y=—3x

(6) y=—2x




